RHEAAYYARXE Ra7L—b DR OFR(BREHY) OFRA(BRLL) R=%8% ~=3%4% EF=K2%
BFROBFIIHBEI=0TE

REA XEEA—R S HE BkiS 4
BHROAYY2018FENRE FLIPPERS VS. CANDIES 2018/05/27 10:00| =44 1135 E (F—)
CANDIES & AemeE ] | T
T P &4 1 2 3 4 5 6 7 8 9 HESERITHRITR—HUBBEIRES=X | A | B
1 (&) 4708 XA =ik 70 EX th3@ -3 3i1i1i0i0it1i1i0io0
2 B 30eh AT A WS 2ok Pz ) bz 3i0i1i0i1i0i1ioio
3 () BER B= PO Bk =5k PO Bk 2 R LBk 1i0i0i0i0ioni2it1io
4 (=) 5WEM i po Bk HiIkE1@ | HKE1@ b @ 1{2i{0i0i{0i0i3:i0i2
5 (—)¥H4 1084+ &8k =R W oIk @ S 3i1i0i0i0i1i1:i0i{0 510
6 (%) 1988 EBE =R =EAOL F2Q@ ==F2t3 4:2i2:0i3i1i0:0:0
7 () BUAR H— 7R 2@ k22 3i1i2i0i{2i0i{0:i0}0
8 (f)245— 997k Bz EZ@® 701k @ WES3 1i{2i1i0i0i0i2i0:i0 110
9 (D)= 2982% —= WES3 wEsQ)) R 1i0i1i0i1i0i2i0i0
10 38)A 26in7%E 18- F20@ 1%:40) =3 2i1i1i0i{2{0i{0i1i0
11 (¥8)—15 16EF# 2B iy ) mERD SEBk 1i1i0i0i1i0it1i1io0
12 8)=# 208 EHE EZOR| =3 =3 3i0i1i0i1i0i0i0i0
5t/ 26i11i10: 0 {11{ 3 i13i 3} 2 6 i 0
[ EiR BRF4 B ERE BREK TE R #HHR TR (S| 5xEk | B (A | X5 [BES EEADEEE
o SR 33ER & 4 34 10 0 3 13 1 1 11
hix | 88ARE £5 2 8 0 0 0 0 2 1 0 0
0
[a
o
T




ERIOAYYAKE Xa7d—k

OITR

ORR(ERHY) ORRKR(ERLL) #I=%2% =5 HH=K2%E
BFROBFIHZEI=0ITE

FLIPPERS & A RE i FiE
FTIE SPHiE TE% 1 2 3 4 5 6 7 8 9 HT#S S fI HRIT o= IR B BRE 2 A B
1 (&) 437G HH— W7 EZ@ =3 3:1i1{0i0i0i0i0:0
2 G SSAIRE EH b3 | EZEZ1@ =R 3it1itioioitrTioioid
3 (%)t 33FEE & We R 2@ 1 =3 3i0{1i0i2i0i0{0iT1
4 (#)6 T5INR EE WEZO =3 Wk 3i1i1i0i0i0i0i0i0 3 i1
5 (D& 2271 &N1T AR ARE1@® H2 3i1i3:i0i0i0i0:0i1
6 (—) 543 FHB =R B3 =R 3i0{1i0i0i0i0i0{0
7 (= 60 ¥7 BT DE EZDZE10 Plicg 3 3i1i1i0i2i0i0i0!2
8 (|E 527 %% S—EB B3 BOKE 2:0i0i0i0i0i0i0if
9 (B)¥E 10&5R B = EiED 1{0i{0i0i1i0i0i0:i0
10 3= 60AJ11 55k = ST 2:0i{0i0i0i0i0i0i0
11 €9z 90;E13 FBR =R = 2i{0i0i0i0i0{0i0i0
54|28 5i9i0:i5{1i0:i0:i6 3 i1
%8R ZiR BF4£ RER[E] BRk3k TE LI #HHR = [5mEk| 5%% | EF |A—7 | £58 |[BES P Bk @157
@) SEH e BE 6 29 9 0 1 0 0 5 4
[72]
W
a
=2
<
(@)
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 B
CANDIES 0 3 4 4 0 11
FLIPPERS 0 1 5
6[EEH T HMEYIN
aAVR2

BRaXAYv Y2018 EE AT, 2018/05/27 10:00 FLIPPERS VS. CANDIES (=Y~ 132m(5—))



